EERERENSRE=2) VAR (REEUERES11E)ER
(ERK30FE8A16H~1083HEME)

RF K E B SAER (BUFHRYE)
RBERKENEARE (RFHD)

AEBS ZERREERAEE 1 Sv/h)
No. | iTH w5 MR T BE | s0om A AR B (b2 - 4RO F ) W
fm sm | siom | 4m | #iom [ sm | miom
HERR | AR | PERR | FEER | HERR | RERR
50cm 0.06 0.06 0.06 0.07 0.07 0.08
300 | WEERET | REMR- REtLS— [HERITREE 8A21A
1m 0.05 0.06 0.06 0.07 0.07 0.07
) . 50cm 0.06 0.07 0.07 0.07 0.08 0.08
400 | WEAE | MRRREIST |HBREISD 8H218
1m 0.06 0.07 0.05 0.07 0.08 0.08
. . 50cm 0.08 0.07 0.07 0.08 . i
401 | EERET | KEERESST |[FEREHST 8A21A b A O LTBASEL 0, KEDHAE
1m 0.07 0.07 0.07 0.08
50cm 0.06 0.06 0.07 0.06 0.09 o = ARk g 4
w02 | HERET | HMRERESST |[RRESST 8A21H LS o CEn SRR EAE LRI
1m 0.06 0.06 0.06 0.06 0.08 :
) . 50cm 0.08 0.07 0.08 0.07 0.08 0.07
403 | WEAE | MRERREIST |REREISD 8H218
1m 0.07 0.07 0.08 0.08 0.07 0.08
o ] 50cm 0.06 0.06 0.10 0.09 0.10 0.09
404 | HEEKET Z Dt [FATFEZWEDME 8H21A
1m 0.05 0.07 0.09 0.09 0.09 0.10
e L 50cm 0.07 0.09 0.07 0.07 0.10 0.11
405 | WEERET | HEERESST |[HERRESST 8A21A
m 0.07 0.09 0.07 0.08 0.10 0.11
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